



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{29}{54}\right)$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{59}{64}$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{2}{3}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = 0$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} = 0$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{107}{216}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{4}\right) = \frac{163}{216}$$

$$\left(-\frac{1}{6}\right) - \frac{1}{2} = \left(-\frac{2}{3}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{4} = \frac{53}{216}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{2}{5} = \frac{49}{125}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{43}{80}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(-\frac{1}{6}\right) + \frac{1}{4} = \frac{1}{12}$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{51}{125}$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{49}{135}\right)$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{80}$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{3}\right) = \frac{1}{6}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{5} = \frac{1}{20}$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{6}\right) = \frac{11}{30}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$